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B :mm
Er——— = = R 1 (7)
HOE N &g :H%:)?Faé B 2 J; & & fé(L_) BEEE (kg/m) RWEG UBW VEWEG T

(D) |BA-BNF 5| () |FFEE| ERTE FREHVPWG VPW 1=4,000 | L=5,000 | | L=4,000 | L=5,000 | L=4,000 | L=5,000 | L=4,000 | L=5,000

13 18.0 |+0.20 | £0.2 | 2.5 |=£0.20 | 4000 301 0.170| 0.174 |O| IW134 - |O|VWI134| — 1,220 - 990 -

16 22.0 |£0.20 | £0.2 | 3.0 |=£0.30 | 4000 381 0.251| 0.256 |O| IW164 — |O|VW164| — 1,830 — 1,450 -

20 26.0 |£0.20 | £0.2 | 3.0 |=£0.30 | 4000 381 0.303| 0.310 |O| IW204 — |O|VW204| -— 2,010 - 1,680 -

25 32.0 |£0.20 | £0.2 | 3.5 |=£0.30 | 4000 391 0439 0448 |O| IW254 — |O|VW254| — 3,050 - 2,380 -

30 38.0 |£0.30 | £0.2 | 3.5 |=£0.30 | 4000 +391 0.531| 0.542|O| IW304 — |O|VW304| -— 3,880 - 3,030 -
40 48.0 |£0.30 | £0.2 | 4.0 [%£0.30 | 4000 5000 | =39 | 0.774 | 0.791 |©O| IW404 | IW405 |© | VW404 | VW405| 5,320 | 6,670 | 4,310 | 5,370
50 60.0 | £0.40 | £0.2 | 4.5 |=£0.40 | 4000 5000 |*39| 1.098 | 1.122 | O| IW504 | TW505 |© | VW504 | VW505| 7,070 | 8,820 | 5850 | 7,350

65 76.0 | +0.50 | £0.3 | 4.5 |£0.40 [4000(5000) “39| 1.415| — |O] IP654 - |- - — 9,830 - - -
75 89.0 |+0.50 | £0.2 | 5.9 |£0.40 [4000(5000) +39| 2.156 | 2.202 |O| IW754 | IW755 |©| — |VW755| 14,580 | 18,220 - 13,950
100 114.0 |£0.60 | £0.2 | 7.1 |=£0.50|4000(5000)+39| 3.338| 3.409 |O|IWIH4 | IWIH5|O| — |VWIH5| 21,340 | 26,680 | — | 20,570

125 | 140.0 |+0.80 | £05 | 7.5 |=0.50 |4000(5000)+29| 4.370| — |O|IP1Q4| — |[—| ~— — |20190| - - -
150 165.0 | £1.00 | £0.3 9.6 | £0.60 | 4000(5000) +23| 6.561| 6.701 |O|IW1F4 | [W1F5 | — — VWI1F5| 44,290 | 55,360 — 41,830
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